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= 1,900
< 410
[ia 410
OAMEAIE 2232 9,460
= 6,622
< 1,419
s 1,419
AZAIE S 2l 21,000 0 21,000
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SRR A= o=l
A A THOH X
el e CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AFAFER Z A I 39,900 0 39,900
= 19,950
s 19,950
401 Al HI K 201 I 39,900 0 39,900
= 19,950
s 19,950
01 A& Bl 39,900 0 39,900
O &HALER & A T 700,000 * 5704 A& 39,900
= 19,950
= 19,950
cedg=ER 102,498 0 102,498
= 71,747
< 15,375
i 15,376
401 Al HIZ 2018 102,498 0 102,498
= 71,747
< 15,375
e 15,376
01 A& HI 102,498 0 102,498
OLU=EFA(BELRF)
102,498,000& = 1JH A 102,498
= 71,747
< 15,375
s 15,376
ATl 2tel 22,000 52,010 A 30,010
aXoIE8RE 22,000 22,000 0
201 ¢4l 22,000 22,000 0
01 At 2t 2l 22,000 22,000 0
OdXolE8x1=2% BEH ¥ sA&2 22,000
SASE 561,820 388,176 173,644
S ASE2el 561,820 388,176 173,644
S3AXH 430,000 301,656 128,344
401 Al HIZ 201 Y| 430,000 301,656 128,344
01 A& HI 426,990 300,000 126,990
OZANZSE W A2 E= 2 sX2a 297,900
OEANZE&E W Lo o8AdE el 99,300
O4pel MEIZZH OISASTA 018 U &
~ 29,790
03 A& 2 THHI 3,010 1,656 1,354
OEANSE U AlEE 2+ & |X2a 2,100
OZANSE W Lo oIsAlds 2z2ad 700
O40t2] MEI£2Y OISASEA 08 U 2
N 210




SM: MM
. A2
Sl SAZHEBR EERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
22 22 131,820 86,520 45,300
101 Q124 H| 97,500 54,600 42,900
04 JI2ZtHIZ22 NEES 97,500 54,600 42,900
OEAZ2 2210 2 LAIAY o9
97,500,000 97,500
201 et d| 34,320 31,920 2,400
01 AFR 2t 2| H| 1,500 1,500 0
OEANZ2E 3A2E 1Y 1,500
02 B32ZH| 32,820 30,420 2,400
OEAZ2E A2 25,620
—CAZ28 Bots X2l
1,000,000& * 9 A 9,000
— 2 £E2A2 =52 280,000 * 63| 1,680
— HEOI=0lAIE EHIIEA =&
500,0008 » 30 A 1,500
—JHOlA QIZER FMI|QHBY| (Y SA2
120,000 * 12& 1,440
~E72543 B2, 54 240 L 2
o2 1,000,000 * 12& 12,000
OZANZ2E AIE2tel HHl d=H|
2,000& = 302/ » 120 7,200
SSa 2SS 2 390,000 80,000 310,000
= 10,000
= 55,000
= 325,000
FSH=2E S 2 180,000 0 180,000
FSHa=2g 3322 180,000 0 180,000
401 Al HI L 204 HI 180,000 0 180,000
Al & H| 178,740 0 178,740
OxEg0ls A2 X0 & S22 178,740
03 AlIE 20| 1,260 0 1,260
OEd0s ALz EX0M & A2 1,260
ANESSH 210,000 80,000 130,000
= 10,000
= 55,000
= 145,000
NEZBH olTel s & T2 2H 160,000 30,000 130,000
= 10,000
= 55,000
= 95,000
201 et | 41,000 11,000 30,000
= 500
& 250
= 40,250
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